

TUESDAY NIGHT MAJORS BOWLING LEAGUE**THIRD SERIES STANDINGS****FEBRUARY 17, 2026**

TEAMS	SERIES POINTS	WINS	LOSSES	TIES	OPPONENTS TOTAL	TEAM TOTAL
					PINFALL	WINS
W. SWOLUK	153	7	0	0	19375	21
S. SAWCHUK	136	5	2	0	19561	19
T. MICHEL	129	4	3	0	20090	16
J. WILLCOTT	129	3	2	2	19344	15
A. GOOSE	126	4	2	1	18840	19.5
P. MAYO	111	3	4	0	19448	16
D. LAFRAMBOISE	109	4	3	0	20168	13
S. SITAR	104	2	3	2	20352	11
M. SHONOSKY	92	1	4	2	20076	11
D. TAYLOR	87	1	6	0	20213	10.5
G. DEGRAZIA	85	3	4	0	20818	10
N. FELBEL	83	1	5	1	20704	6

YEAR - TO - DATE LEAGUE STANDINGS

TEAMS	YTD POINTS	WINS	LOSSES	TIES	OPPONENTS TOTAL	TEAM TOTAL
					PINFALL	WINS
W. SWOLUK	479	19	2	2	64085	65
T. MICHEL	417	13	7	3	66030	54
A. GOOSE	404	11	7	5	63708	55.5
S. SAWCHUK	380	12	9	2	64799	50
N. FELBEL	361	8	9	6	66325	41
M. SHONOSKY	359	8	10	5	64279	43
G. DEGRAZIA	348	10	12	1	66793	47
D. TAYLOR	347	9	11	3	64877	43.5
D. LAFRAMBOISE	342	7	13	3	65593	41
S. SITAR	329	7	12	4	65860	33
P. MAYO	327	6	15	2	64186	43
J. WILLCOTT	323	8	11	4	65702	36

TUESDAY NIGHT MAJORS BOWLING LEAGUE

MATCH PLAY STANDINGS

FEBRUARY 17, 2026

A DIVISION	WLT RECORD			PCT.	B DIVISION	WLT RECORD			PCT.	C DIVISION	WLT RECORD			PCT.
TAYLOR MICHEL	58	34	0	0.630	DEVIN KLASSEN	51	23	2	0.684	RICHIE BACCARI	56	22	2	0.713
WES SWOLUK	56	35	1	0.614	AARON PORTO	55	36	1	0.603	SARAH MESERVIA*	22	18	0	0.550
GREG DEGRAZIA	47	35	1	0.572	NICK CAVA	52	40	0	0.565	CODI MICHEL	48	40	0	0.545
SAYER SAWCHUK*	28	24	0	0.538	KYLE GOOSE	44	35	1	0.556	QUENTIN SNIDER JR	45	43	0	0.511
JOHN WILLCOTT	39	34	0	0.534	JORDYN GRAHAM	50	41	1	0.549	AL PEDRON*	26	29	0	0.473
DAN TAYLOR	47	41	0	0.534	ALYSSA BONNIE	44	42	1	0.511	ASHLEY BACCARI	31	37	0	0.456
SAM SITAR	43	39	1	0.524	KATIE BONNIE	30	35	1	0.462	ANGEL GOODLAD	31	38	3	0.451
ADAM GOOSE	41	38	1	0.519	BRANDON FAVEL	37	46	1	0.446	WILL REYNOLDS	32	40	0	0.444
NEIL FELBEL	38	46	0	0.452	ASHLEY TOURIGNY	32	44	0	0.421	ANGELA BEGIN	30	43	3	0.414
DAVID LAFRAMBOISE	37	50	1	0.426	PAIGE HADLEY	30	44	2	0.408	Q-BALL SNIDER SR*	21	30	1	0.413
MATT SHONOSKY	27	55	2	0.333	ALEX GERAVELIS	32	54	2	0.375	KAYLA VALIHARJU	35	52	1	0.403
PHILIP MAYO	25	50	0	0.333	PAT MERINEAU	28	51	1	0.356	BRITTNEY HOOK	31	57	0	0.352

Bowlers must bowl a minimum of 96 games (3/4 of the season) in order to qualify for year-end awards.

*Does not qualify

TUESDAY NIGHT MAJORS BOWLING LEAGUE

INDIVIDUAL CATEGORY LEADERS

FEBRUARY 17, 2026

HIGH AVERAGE		HIGH SINGLE		HIGH TRIPLE		HIGH FOUR	
TAYLOR MICHEL	279.50	GREG DEGRAZIA	413	GREG DEGRAZIA	1050	TAYLOR MICHEL	1341
GREG DEGRAZIA	276.11	TAYLOR MICHEL	409	SAYER SAWCHUK	1001	GREG DEGRAZIA	1308
WES SWOLUK	274.82	SAM SITAR	408	TAYLOR MICHEL	997	DAVID LAFRAMBOISE	1294
DAN TAYLOR	266.08	DAN TAYLOR	399	DAN TAYLOR	995	SAM SITAR	1271
ADAM GOOSE	262.46	JOHN WILLCOTT	391	ADAM GOOSE	960	SAYER SAWCHUK	1236
SAM SITAR	260.39	WES SWOLUK	388	DEVIN KLASSEN	931	WES SWOLUK	1232
SAYER SAWCHUCK	258.81	ADAM GOOSE	384	WES SWOLUK	928	DEVIN KLASSEN	1208
JOHN WILLCOTT	256.63	DAVID LAFRAMBOISE	380	KYLE GOOSE	915	KYLE GOOSE	1189
DAVID LAFRAMBOISE	255.32	ALEX GERAVELIS	375	JOHN WILLCOTT	914	ADAM GOOSE	1189
DEVIN KLASSEN	254.89	PAT MERINEAU	368	DAVID LAFRAMBOISE	914	DAN TAYLOR	1173

TUESDAY NIGHT MAJORS BOWLING LEAGUE			
TEAM CATEGORY LEADERS			
FEBRUARY 17, 2026			
TEAM HIGH SINGLE		TEAM HIGH FOUR	
JOHN WILLCOTT TEAM	962	SAYER SAWCHUK TEAM	3242
TAYLOR MICHEL TEAM	958	WES SWOLUK TEAM	3235
WES SWOLUK TEAM	940	DAVID LAFRAMBOISE TEAM	3230
SAYER SAWCHUK TEAM	925	DAN TAYLOR TEAM	3221
PHILIP MAYO TEAM	917	JOHN WILLCOTT TEAM	3207
DAVID LAFRAMBOISE TEAM	902	GREG DEGRAZIA TEAM	3169
SAM SITAR TEAM	882	TAYLOR MICHEL TEAM	3157
DAN TAYLOR TEAM	877	PHILIP MAYO TEAM	3125
ADAM GOOSE TEAM	875	NEIL FEBEL TEAM	3081
GREG DEGRAZIA TEAM	873	SAM SITAR TEAM	3052
NEIL FEBEL TEAM	849	ADAM GOOSE TEAM	3052
MATT SHONOSKY TEAM	808	MATT SHONOSKY TEAM	2895

In order to qualify for Team High Single or Team High Four, all team member must be present. Spares scores do not count.

Lane Assignments

	<u>25-26</u>	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>	<u>35-36</u>
Wk24 02-17	10- 8	12- 3	1- 7	4- 5	6- 2	9-11
Wk25 02-24	6- 7	11- 4	8- 2	9- 3	1-10	5-12

Season High Scores

Team Scratch Game

962	WILLCOTT
958	MICHEL
940	SWOLUK
925	SAWCHUK
917	MAYO

Team Scratch Series

3242	SAWCHUK
3235	SWOLUK
3230	LAFRAMBOISE
3221	TAYLOR
3207	WILLCOTT

Scratch Series

1341	Taylor Michel
1294	David Laframboise
1236	Sayer Sawchuk
1232	Wes Swoluk
1189	Adam Goose

Scratch Game

413	Greg DeGrazia
408	Sam Sitar
399	Dan Taylor
391	John Willcott
363	Neil Felbel

Scratch Series

1208	Devin Klassen
1189	Kyle Goose
1134	Nick Cava
1121	Katie Bonnie
1114	Brandon Favel

Scratch Game

375	Alex Geravalis
368	Pat Merineau
365	Jordyn Graham
353	Aaron Porto
347	Alyssa Bonnie

Scratch Series

1111	Richie Baccari
1111	Codi Michel
1039	Angel Goodlad
1037	Al Pedron
983	Ashley Baccari

Scratch Game

356	Will Reynolds
336	Quentin Snider Jr
336	Kayla Valiharju
318	Q-ball Snider
312	Brittany Hook

Last Week's Top Scores

Team Scratch Game

886	SWOLUK
850	WILLCOTT
826	SAWCHUK
813	DeGRAZIA
807	MICHEL

Team Scratch Series

3107	SWOLUK
3105	SAWCHUK
3075	MICHEL
2954	DeGRAZIA
2871	WILLCOTT

Scratch Game

339	Taylor Michel
336	Adam Goose
321	Sayer Sawchuk
320	Dan Taylor
319	David Laframboise

Scratch Series

1210	Taylor Michel
1165	Sayer Sawchuk
1117	Adam Goose
1090	Wes Swoluk
1071	David Laframboise

Scratch Game

350	Nick Cava
317	Kyle Goose
295	Devin Klassen
282	Aaron Porto
280	Jordyn Graham

Scratch Series

1134	Devin Klassen
1105	Nick Cava
1049	Aaron Porto
1001	Jordyn Graham
972	Paige Hadley

Scratch Game

348	Matt Cho-Chu
336	Quentin Snider Jr
336	Kayla Valiharju
323	Richie Baccari
287	Will Reynolds

Scratch Series

1008	Kayla Valiharju
982	Will Reynolds
968	Richie Baccari
939	Matt Cho-Chu
933	Angel Goodlad

Individual High Averages

A	279.50	Taylor Michel	276.11	Greg DeGrazia	274.82	Wes Swoluk	266.08	Dan Taylor	262.46	Adam Goose
	260.39	Sam Sitar	258.81	Sayer Sawchuk	256.63	John Willcott	255.32	David Laframboi	253.45	Neil Felbel
B	254.89	Devin Klassen	252.52	Nick Cava	248.85	Kyle Goose	244.15	Aaron Porto	243.34	Jordyn Graham
	238.30	Katie Bonnie	234.96	Brandon Favel	234.00	Alyssa Bonnie	231.36	Ashley Tourigny	229.22	Paige Hadley
C	240.88	Richie Baccari	223.51	Codi Michel	221.54	Angel Goodlad	219.40	Kayla Valiharju	218.53	Ashley Baccari
	217.93	Will Reynolds	217.18	Quentin Snider J	215.40	Q-ball Snider	214.02	Al Pedron	205.51	Angela Begin

Team Rosters

	Name	Avg	Total	-1-	-2-	-3-	-4-	High Game	High Sers
1 - SWOLUK	Lane 29 Avg=758								
	Wes Swoluk	274	1090	298	243	281	268	388	1232
	Richie Baccari	240	968	275	188	323	182	363	1111
	Aaron Porto	244	1049	275	251	282	241	353	1053
2 - DeGRAZIA	Lane 34 Avg=724								
	Greg DeGrazia	276	974	261	299	190	224	413	1308
	Kayla Valiharju	219	1008	204	259	209	336	336	1103
	Paige Hadley	229	972	251	232	236	253	335	1046
3 - MICHEL	Lane 28 Avg=736								
	Taylor Michel	279	1210	288	300	339	283	409	1341
	Codi Michel	223	924	240	200	214	270	340	1111
	Alyssa Bonnie	234	941	279	226	194	242	347	1108
4 - FELBEL	Lane 31 Avg=720								
	Neil Felbel	253	909	233	187	215	274	363	1166
	Q-ball Snider	215	675	149	162	195	169	318	952
	Nick Cava	252	1105	296	250	209	350	350	1134
5 - WILLCOTT	Lane 32 Avg=691								
	Pat Merineau	218	0					368	1077
	John Willcott	256	969	178	275	291	225	391	1158
	Will Reynolds	217	982	273	216	287	206	356	1020
6 - TAYLOR	Lane 33 Avg=710								
	Dan Taylor	266	1060	320	195	239	306	399	1173
	Alex Geravalis	223	775	205	207	222	141	375	1105
	Angel Goodlad	221	933	251	183	214	285	305	1039
7 - MAYO	Lane 30 Avg=695								
	Ashley Baccari	218	0					308	983
	Philip Mayo	239	934	224	212	180	318	351	1103
	Katie Bonnie	238	969	223	244	273	229	340	1121
8 - LAFRAMBOISE	Lane 26 Avg=706								
	David Laframboise	255	1071	257	287	319	208	380	1294
	Quentin Snider Jr	217	875	336	163	193	183	336	1041
	Brandon Favel	234	880	201	231	194	254	350	1114
9 - SITAR	Lane 35 Avg=696								
	Angela Begin	205	774	153	161	250	210	306	956
	Ashley Tourigny	231	832	a208	a208	a208	a208	338	1049
	Sam Sitar	260	933	199	213	244	277	408	1271
10 - GOOSE	Lane 25 Avg=724								
	Al Pedron	214	755	134	175	228	218	307	1037
	Kyle Goose	248	963	230	153	317	263	360	1189
	Adam Goose	262	1117	276	336	235	270	384	1189
11 - SAWCHUK	Lane 36 Avg=708								
	Brittany Hook	196	806	249	165	208	184	312	885
	Devin Klassen	254	1134	268	295	277	294	365	1208
	Sayer Sawchuk	258	1165	309	321	217	318	353	1236

		<u>Name</u>	<u>Avg</u>	<u>Total</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>-4-</u>	<u>High Game</u>	<u>High Sers</u>
12 - SHONOSKY	Lane 27	Avg=695								
		Sarah Meservia	210	834	226	176	189	243	309	920
		Jordyn Graham	243	1001	268	252	201	280	365	1117
		Matt Shonosky	242	996	224	254	276	242	360	1091

Temporary Substitutes

<u>Name</u>	<u>Avg</u>	<u>Total</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>-4-</u>	<u>High Game</u>	<u>High Sers</u>
Brian Bonnie	bk231	0					0	0
Matt Cho-Chu	228	939	274	141	348	176	348	1039
Aaron Frade	226	0					276	935
Devan Hook	bk218	0					0	0
Shayne Jonasson-Sgamb	bk249	0					0	0
Kayleen Kajorinne	227	0					274	954
Dallas Klassen	234	0					315	974
Evan Pastor	bk208	0					0	0
Richard Peltola	234	0					345	1224
Jonny Power	bk229	0					0	0
Robbie Precoma	241	920	245	205	272	198	273	1009
Justin Reid	225	0					313	986
Jack Snider	224	0					274	972
Amanda Stein	162	0					184	651
Michaela Turner-Mayo	237	0					313	1039
Kasey Wiltshire	215	0					284	894

Average List of Regular Team Members



Division 1: A

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>
Michel, Taylor	25714	92	279.50	Sawchuk, Sayer	13458	52	258.81
DeGrazia, Greg	22917	83	276.11	Willcott, John	18734	73	256.63
Swoluk, Wes	25283	92	274.82	Laframboise, David	22468	88	255.32
Taylor, Dan	23415	88	266.08	Felbel, Neil	21290	84	253.45
Goose, Adam	20997	80	262.46	Shonosky, Matt	20385	84	242.68
Sitar, Sam	21612	83	260.39	Mayo, Philip	17996	75	239.95



Division 2: B

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>
Klassen, Devin	19372	76	254.89	Favel, Brandon	19737	84	234.96
Michel, Nick	23232	92	252.52	Bonnie, Alyssa	20358	87	234.00
Goose, Kyle	19908	80	248.85	Tourigny, Ashley	17583	76	231.36
Porto, Aaron	22462	92	244.15	Hadley, Paige	17421	76	229.22
Graham, Jordyn	22387	92	243.34	Geravalis, Alex	19672	88	223.55
Bonnie, Katie	15728	66	238.30	Merineau, Pat	17519	80	218.99



Division 3: C

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>True Average</u>
Baccari, Richie	19270	80	240.88	Snider Jr, Quentin	19112	88	217.18
Michel, Codi	19669	88	223.51	Snider, Q-ball	11201	52	215.40
Goodlad, Angel	15951	72	221.54	Pedron, Al	11771	55	214.02
Valiharju, Kayla	19307	88	219.40	Meservia, Sarah	9251	44	210.25
Baccari, Ashley	14860	68	218.53	Begin, Angela	15619	76	205.51
Reynolds, Will	15691	72	217.93	Hook, Brittany	17256	88	196.09